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Frasi di numeri con decimali Nome:
Determina qualedellefrasi évera. Risposte
1) A.6,58<6,85 2) A.4,89>498 3) A.567=5,76
B. 5,68 > 5,86 B.3,67=3,76 B. 4,83> 4,38 1
C.167>1,76 C.520=5,2 C.3,84<348
D.0,46 = 0,64 D.1,28>1,82 D.0,67=0,76 2,
3.
4) A.5,69>5096 5 A.185<1,58 6) A.126=1,62 4.
B.8,0=8 B.4,57> 4,75 B.1,75<157
C.0,73<0,37 C.1,28>1,82 C.1,49>19 5,
D.1,34>143 D.547<5,74 D.1=1,00
6.
7.
7) A.2,15<251 8) A.0,14=041 9) A.0,36=0,63
B. 4,79 =497 B.2,39=2,93 B. 3,06 < 3,60 8
C.345=354 C.0,95<0,59 C. 0,68 > 0,86
D.125=152 D.3,92> 3,29 D.1,29=1,92 o
10.
10) A.0,84<0,48 11) A.2,07<2,70 12) A.8,09<08,9
B.1,00=1 B.1,89>1,98 B.2,38>2,83 1.
C.0,14=0,41 C.0,72<0,27 C.0,21<0,12
D.0,26 = 0,62 D.1,28=1,.82 D.0,89 > 0,98 12.
13.
13) A.2,74<247 14) A.7,98<7,89 15) A.0,75<0,57 14.
B.2,31>2,13 B. 5,78 > 5,87 B.2,48>2:84
C.243<234 C.5,92>5,29 C.6,84>6,48 15.
D.123=1,32 D.2,59=2,95 D.4,68=4,86
16.
17.
16) A.5,62> 5,26 17) A.4,98<4,89 18) A.3,68=23,86
B. 2,56 =2,65 B.1,78=1.87 B. 0,98 < 0,89 18,
C.5,68=5,86 C.6,00=6 C.9=90
D.5,69 > 5,96 D.2,46 =264 D.0,79 > 0,97
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Frasi di numeri con decimali Nome: Soluzioni
Determina qualedellefrasi évera. Risposte
1) A.6,58<6,85 2) A.4,89>498 3) A.567=5,76
B. 5,68 > 5.86 B. 367 =376 B.4,83> 438 . _ A
C.1,67>176 C.520=52 C.3,84<348
D.0,46 = 0,64 D.1,28> 1,82 D.0,67 = 0,76 2. C
3. B
4) A.569>5096 5 A.185<158 6) A.126=162 n B
B.80=8 B.457>475 B.175< 157
C.0,73<0,37 C.1,28>1,82 C.1,49> 1,94 5 D
D.1,34> 143 D.547<574 D.1=1,00
6. D
7 A
7) A.2,15<251 8) A.014=0,41 9) A.0,36=0,63
B. 4,79 = 4,97 B. 2,39 =203 B. 3,06 < 3,60 . D
C.345=354 C.0,95< 0,59 C.0,68> 0,86 '
D.1,25=152 D.3,92 > 3,29 D.1,29=1,92 o B
10. B
10) A.0,84< 0,48 11) A.2,07<2,70 12) A.8,09< 08,9 A
B.1,00=1 B.1,89> 1,98 B. 238> 283 11
C.0,14=0,41 C.0,72<0,27 C.0,21<0,12 A
D.0,26 = 0,62 D.1,28=1,82 D.0,89> 0,98 12.
13 B
13) A.274<247 14) A.7.98< 7,89 15) A.0,75<0,57 1. C
B.231>213 B.578> 5,87 B.248> 284
C.243<234 C.592>529 C.6,84>648 15, C
D.123=1,32 D.2,59 = 2,95 D.4,68 = 4,86
16. A
17. C
16) A.5,62> 5,26 17) A.4,98 < 4,89 18) A.3,68 =386
B. 2,56 = 2,65 B.178=187 B.0,98< 0,89 s C
C.5,68=5,86 C.6,00=6 C.9=90
D.5,69> 596 D.2.46 =264 D.0,79> 0,97
. 1-10 | 94]8983| 78| 72| 67| 61|56 |50 | 44 |
Matematica www.CommonCoreSheets.it 11-1839]33|28|22|17]11| 6 | O




